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MTH634:Quiz 1 Quiz Start Time: 08:09 AM, 20 May 2018

Question # 1 of 6 ( Start time: 08:09-38 AM, 20 May 2018) Total Marks: 1

Let X « {a,b,c,d} and 7 ~ {¢,{c},{a,c},{b,c,d}, X} be a topology on X. The closed set in X is:

Select the correct option ® Reload Math Equations
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none
O

> Click to Save Answer & Move to Next Question
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MTHG634:Quez 1 Quiz Start Time: 08:09 AM, 20 May 2018

Question # 1 of 6 ( Start time: 08:09:38 AM, 20 May 2018) Total Marks: 1

Let X « {a,b,c,d} and 7 ~ {¢,{c},{a,c},{b,c,d}, X} be a topology on X. The closed set in X is:

P Select the correct option ® Reload Math Equations
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none
O
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MTH634:Quiz 1 Quiz Start Time: 08:09 AM, 20 May 2018
Question # 2 of 6 ( Start time: 08:10-51 AM, 20 May 2018 ) Total Marks: 1

Let X « {a,b,c,d}. The following set is not a topology on X.

Select the correct option ® Reload Math Equations

{9.{a}.{a.b}.X}

{.{a}.{b}.X)

{9.{a).{a.c}.X}

{9.(a}.{a.d}.X}

Click to Save Answer & Move to Next Question
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Question # 3 of 6 ( Start time: 08:11:37 AM. 20 May 2018 ) Total Marks: 1

The trivial topology is also called

Select the correct option
Discrete topology

Complete topology

O

Indiscrete topology

none

Click to Save Answer & Move to Next Question
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Question # 4 of 6 ( Start time: 08:12-04 AM, 20 May 2018 ) Total Marks: 1

Let ~ be a topology on X. The elements of 7 are called:

Select the correct option ® Reload Math Equations

closed s=t

open seis

denved set

dense set

Click to Save Answer & Move to Next Question
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Question # 5 of 6 ( Start time: 08:12:43 AM. 20 May 2018 ) Total Marks: 1

Let {Ti|i € I'} be any collection of topologies on set X. Then N T} is:
wT

Select the correct option ® Reload Math Equations

not a topology

a topology

empty set

empty

Click to Save Answer & Move to Next Question
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Question # 6 of 6 ( Start fime: 08:13:25 AM, 20 May 2018 ) Total Marks: 1

The smallest topology one can define on some set is called:

Select the correct option ® Reload Math Equations

indiscrete topology

discrete topology

comparable topology

usual topology

Click to Save Answer & Move to Next Question
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Question # 1 of 6 ( Start time: 10:16:23 PM. 22 May 2018 ) Total Marks: 1

The trivial topology is also called

Select the correct option
Discrete topology

Complete topology

O

Indiscrete topology

none

Click to Save Answer & Move to Next Question
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Question # 2 of 6 ( Start time: 10:17-00 PM, 22 May 2018 ) Total Marks: 1

Let X be a nonempty set and r be a topology on X | then the following statements must be true. (where P(X) denotes the power set of X)

Select the correct option ® Reload Math Equations

TGN
O

KT
O

T c P(X)
®

none
O

Click to Save Answer & Move to Next Question
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MTHG634:Quez 1 Quiz Start Time: 10:16 PM, 22 May 2018

Question # 4 of 6 ( Start time: 10:18:12 PM, 22 May 2018) Total Marks: 1

Let X = {a,b,c,d}. The following set represents a topology on X.

Select the correct option ® Reload Math Equations

{9.{a}.{a.b}.X}

{.{a}.{b}.X)

{9.{a}.{b.c}.X}

{9.{c}.{a.b}.X}

Click to Save Answer & Move to Next Question
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MTHG634:Quez 1 Quiz Start Time: 10:16 PM, 22 May 2018

Question # 3 of 6 ( Start time: 10:17:42 PM, 22 May 2018) Total Marks: 1

Let X « {a,b,c,d}. The following set is a topology on X.

Select the correct option ® Reload Math Equations

{9.{a}.{b}.{c}.X}

{®.{c.d}.{b.c.d}.X}

{9.{a}.{b}.X}

none

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 06:02 PM, 20 May 2018

Question # 5 of 6 ( Start time: 06:04:43 PM, 20 May 2018) Total Marks: |

Let X = {a,b,c,d} and r = {0, {c},{a,c}, {b,c,d}, X} be a topology on X. The closed set in X is:

Select the correct option % Reload Math Equations
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(d)
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Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 06:02 PM, 20 May 2018

Question # 6 of 6 ( Start time: 06:05:09 PM, 20 May 2018) Total Marks: |

Let X = {2,4,5,7). The following set represents a topologyon X.

Select the correct option % Reload Math Equations

' O

(p.{2}.44.5} X)

)
I
)
\

(p.(2}.{4.5.7).X)

(p(2}45.7}.X)

(p.(2}.{4).{3L.%}

Click to Save Answer & Move to Next Question




L0
-
N
.
<
-
.
D
Q.
-
-

©
4 4\\\\
AN
~
,:
(D
‘N
/—-‘ )
o’
%

oe e

MC170202886: Aqsa Zunaira Time Left R )
sec(s)

MTH634:Quiz 1 Quiz Start Time: 06:02 PM, 20 May 2018

Question # 4 of 6 ( Start time: 06:04:19 PM, 20 May 2018) Total Marks: |

Let X = {a,b,c.d}. The follounng set is not a topologyon X.

Select the correct option % Reload Math Equations

' O

{p.(a).{a,b}LX}

)
I
)
\

{p.(a).(b).X}

(p.(a).{a,c).X}

(p.(a).(a,d}LX)

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 06:02 PM, 20 May 2018

Question # 1 of 6 ( Start time: 06:02:10 PM, 20 May 2018) Total Marks: |

Let X = {a,b,c,d}. The following set represents a topology on X,

Select the correct option % Reload Math Equations

{p.(a).{a,b}LX)}

(p.(a),(b,c).X}

(p.(c).{a,b).X}

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 06:02 PM, 20 May 2018

Question # 3 of 6 ( Start time: 06:03:39 PM, 20 May 2018) Total Marks: |

The set of all open intervalsof R is a topology on R, called

Select the correct option % Reload Math Equations

' O

discrete topology

)
I
)
\

cofinite topology

real topology

usual topology

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 07:34 PM, 20 May 2018

Question # 5 of 6 ( Start time: 07:36:31 PM, 20 May 2018) Total Marks: |

Let X = {a,b,c}. The following set is a topologyon X.

Select the correct option % Reload Math Equations

{ip.(b}.{c} X}

{p.(a).(b).X}

(p.(a),(b,c).X}

none

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 07:34 PM, 20 May 2018

Question # 4 of 6 ( Start time: 07:36:10 PM, 20 May 2018) Total Marks: |

Let - beatopology on X. The elements of r are called:

Select the correct option % Reload Math Equations

closed set

open sets

derivad set

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1

Question # 1 of 6 ( Start time: 07:34:11 PM, 20 May 2018)
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Quiz Start Time: 07:34 PM, 20 May 2018

Total Marks: |

Select the correct option

{p.(a).(b){c).X}

{a,b,e,d}. The following set is a topologyon X

% Reload Math Equations

(p.(a).(b).X}

none

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 07:34 PM, 20 May 2018

Question # 3 of 6 ( Start time: 07:35:49 PM, 20 May 2018) Total Marks: |

Let X = {a,b,c,d} and r = {9, {c},{a,c}, {b,c,d}, X} be a topology on X. The closed set in X is:

Select the correct option % Reload Math Equations

(c)
O
(d)
O
i ‘none

Click to Save Answer & Move to Next Question
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MTH634:Quiz 1 Quiz Start Time: 07:34 PM, 20 May 2018

Question # 2 of 6 ( Start time: 07:34:39 PM, 20 May 2018) Total Marks: |

Ifin a topology ron X, all subsets of X are called open and closed, then 7 is called

Select the correct option % Reload Math Equations

discrete space

indiscrete space

metric space

O

none

O

> Click to Save Answer & Move to Next Question



